O 24000m? = 2.4ha
@)o.3km? = 31ha

® 3.6ha = 36000 m?

@ 150a=1.5ha

@ 24000a = 2.4km?2

® 0.3km? = 30 ha
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® 100m? @10000a @ 0.1km?
@ 1ha ® 10m x 100m

&8

oo &9 E BT m? 2 HHLH,
@ 100m?

@ 10000a = 1000000 m?

® 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?




@ 540g°] 10000H]+= 5.4 tJUTh.
@350 kg+4.7 t=820kg

® 570000¢g + 0.043t = 613 kg

@ 5kg°] 100081 5t Yt

® 420kg 9] 100 v 42t YU Th

@350kg + 4.7t = 350 kg + 4700 kg = 5050 kg
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® 126 + 180 @ 126 - 180
® 126+7-180+9 @180+9—126+7

® 126 +7+180+9

B ‘

Qlol7t sho] ole B Hok
(126 + 7) = 18(%) o] 1,
AGol7t 2ol 9L BEF Zak
(180 +9) = 20& U}
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oyl =o] 150a & i, oy =4 A
]

200m? =2a °| B2

la g 28 kg o] o] Y4ttt
b, A ABATE] = Aol 2
28 X 150 = 4200(kg) = 4.2(t)
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> Heh: 359

20 + 25 + 30 + 35 + 40 + 45 + 50) = 7
= 35(3])
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54.6kg

‘ (55 x 4+ 53) = 5 = 54.6(kg)
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255 %
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A 57} 4 e ok
spA) 57} 7Ha AL vk

— 420 — 110 = 310(3)

: ARfE— 1109

Bt = (110 + 230 + 180 + 340 + 420 + 250) + 6
= 1530 + 6 = 255(F)
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11, oh A =59 ol % an? YU7H?

- nm =
jm

/ A

| 2
> =Eh 1425000 cm?

AL BE=2m

AB BA=14-11=3m
Hol=(164+2)x14+2+11x3+2
= 142.5m?

= 1425000 cm?




12, 2+ R53 sidold] 5o ot A4S AR AdY et 2]
Ho] sidolv] REkoh Hat Frhwrhal . 2419 Hrt
g 4 gle AFE . (B, 7% 24 2520l 173 |
488 dYH) (FE27h)
oY BE
ol [wel [4d | =g A4 [aH [SA et

5 | &2 |dE |5 | Ad| 55| s | s
A7 ()| 84 | 72|92 | 96 | 80 | 76 | 88

D 92H @)947H ® 967

(gl E=2] &A)

— 84+ 72+ 92 + 96 + 80 + 76 + 88 = 588

o519 422 [ et st

(27l 259 &A)

=024 64+ 76+96+ 100+ 72 +[ |=500+[ |

254 5o A 48t A4 9 A7} 588 HE T oW HE
=

588 =500+ | [ ]=88(H)Ect Hod Fych

12AG 47t 4ol B 2579 Ak

928 964 EE 1009 YYth




13. thg mgelA Actel® e =9 Yol 0.166km? AUt
A24g e e Yol B ha 14 F5HA0,

_.0.35km._
==

km & m 2, km? & m? 2 114 AASHH,
(A= &S] Hol)

= (350 + 480)x (¥=°])+2 = 166000
(3=°])= 166000 x 2 + 830 = 400( m)
(A2 Lea9 gol)

= 480 x 400 + 2 = 96000( m?)

96000 m? = 960a = 9.6 ha




14. A FAZF10kg 1 A=A
FXEUT. oA WA 23K
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o] F2 o8 gofxBE

(oFEA 712 9] £ 9 49 )2
14+4+9+16+25+36+49 + 64 + 81

=285 () ¥y tt.

wretA, (£ AA 9] FA4)= 285 x 10 = 2850( kg)
— 2850kg = 2.85




